
B

C

F

F

D

C

E

E

1

4

7

3

13 2 5 6 28 5 33

4
17

7

16

715

14

4
13

11

8

10

12
4

22

19

25

29
28

23

3

31

23

26
27

24

23

11
11

4

9

18

31

31

30

30

32

32

20
21
20

31

4

RA 530 B B 9-11.2002

D

RA 530 B
Pump and water supply



RA 530 B
Pump and water supply

Pos. Description Reference

01 Flojet pump 24 volts 440.171

02 Connecting hose 1650 mm 530.410

03 Pressure hose 8/14x430 mm 530.415

04 Hose clamp 15.7 mm P...550B

05 Hose clamp 17.0 mm P...550C

06 Angled hose nippel 10/R 3/8" P...541N

07 Angled hose nippel 8/R 3/8" P...541M

08 Hexagon socket screw M 6x12 mm P...486Q

09 Serrated lock washer M6 P...498K

10 Pump support 530.451

11 Serrated lock washer M5 P...498D

12 Hexagon screw M5 P...484P

13 Hose 8/14x250 mm 530.423

14 Magnetic valve complete including 
items 7+15 530.460

15 Magnetic valve 500.291E

16 Cable for magnetic valve 500.291B

17 "Y"-distribution piece P...542E

18 Hose (connector) 8/14x90 mm 530.430

19 Fitting 8/R 1/4" P...524F

20 Hexagon socket screw M 4x12 mm P...486A

21 Washer M4 P...497C

22 Hose (ball tap) 8/14x115 mm 530.420

23 Ball tap complete including
items 11+31 530.465

24 Hexagon socket screw M 5x8 mm P...488E

25 Large connector P...500B

26 Ball tap holder 450.336A

27 Washer M5 P...496H

28 Hose 10/14x550 mm 530.435

29 "T"-distribution piece 8-12-8 P...544E

30 Hose 6/9x220 mm 530.440

31 Angled hose nipple WES 8/R 1/4" P...541H

32 Nut (brass) 1/4" P...535V

33 Reduction hose 530.467




